F96E eluEELE 45278(2)28(H) MUIMER LIS

(BF]
EH ZHI 24| IBAL 08k (ELER) o8k (RER) ek (A=)
KT &R 3 % DNS
100m W= B 2 ¥ 11716(+28) |% 11731(+1.8) *
BEX = i % DQ. FS
= =B 3| 1 |% 22741(+01) % 22726(-0.7) Sk 21792(-0.7) *
200m BEX = 1 ¥ 24718(-0.8)
LB & 1 % 24752(+02)
g BE%& 3 ¥ 53744
400m WE BEA 2 | 4 [¥ 52762 Sk 52733
LB i % 54799
800m BE OEM 2 16 |% 200712 x|k 204716
R 3 % 423792
1500m  [EJI A 3 % 427726 *
B2 BB 2 % 41534 x
FE 3 Sk 1607781
°000m = e 3 sk DNS
omy BB 3| 4 [% 15°77(+29) | 15752(+2.2)
BIE WA i ¥ 18768(+2.5)
400mH  |WE BEA 2 % DNS
3000mSC |#E)Il 19k 3 Sk 1047740 %
Ax100mR | W=, =. K. & | 1 | % 42733 Sk 42714 *
4 X 400mR |FRZE. LG, M=, = | 2 |% 331753 Sk 3723779
EE HE 3 % DNS
£ BEH EE 1] 8 |3k Im7/5
BB MEA 1 Sk 1m65
krE AR 3 1 |3 4m90 *
Bk &L AE 3| 2 [ 4m70
E [EE 2 | 4 [k 4m40
I B 2 % 5m99(+3.3)/AZ85m61(+2.0)
FENERE W= B 2 % DNS
S i S 5m78(+2.3)
— S 3 S 11m89(0)
T =R 2 & 11m85(0)
il B2 3 | 2 [k 12mb3
JrigiEx  |[FE ZE 1 R 8m66
EH = i % DNS
o TE EALR 3 & 40m60
N e 1 & DNS
Rl Sz 3 | 3 |5k 49m80 *
Jrnov-#% |HAER Eib 3 [ b |3 39m09 *
Fik TE 1 &= NM




(%F]

EH E=X:0] 4| EAL 50 8% (J'LR ) 50 8% (JEIR) 50 8% (JER)
=% it 2 % DNS
100m BT {Kim 2 | 4 |% 12"52(+3.0) # 12749(+2.3) H12750(+1.8) *
EH +tiE 1 % DNS
BIE HIE 3| 7 |¥ 27798(-0.2) 3R 27782(-0.2)
200m HE {Kin 2 ¥ DNS
B ME 1 ¥ 29781(0)
Il BHEF 3 ¥ 64789
400m JIE kM| 3 ¥ 69751
I HIE 3 ¥ 65739
3000m Bl Bid 2 H 1215788
ER EKEF 3| 3 [F 16738(+2.1) R 15794(+2.5)
100mH nH BA 3 ¥ 17766(+1.5) R 17708(+2.5)
Wk BAX 1| 4 |% 16749(+2.2) R 15799(+2.5)
400mH ER KEF 3 5 |} 68790 *
4x100mR |8iIHE. T/ B, WWE| 2 |F 50742 R 50718
4X400mR |EAR WL, BIH, )| 4 |FR 4712704
hE BHE 3| 6 [k 1m4b
= FAX = 2 | 3 |#R 1m4b *
f2ls & 2 | 7 |3 1m40
tH X&F 3 R 4m90(+2.9)
ARk =% it 2 & DNS
FAH  EX 1 R 4mb8(+5.8)
7 EE 31 1 |3 12m05
fat ¥ Pl Eir 2 | 5 |3 8m75
Xix HBE 1 7 [ 8m06
E #E 3|1 1 [ 34m04
A% A ER 3| 6 [k 28m47 *
mE ‘&S 3 ® 21m20
” A ER 3|1 7 |[FR31Im16
PUB = S
mE &S 3 | 5 | 33m89
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